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= 170,000 0 170,000
< 85,000 0 85,000
Al 85,000 0 85,000
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= 1,500 0 1,500
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01 =04t 3,000 0 3,000
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= 1,500 0 1,500
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MIIEtEY = 42,572 26,572 16,000
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- EAZ 10,000, 000 10,000 0 10,000
- =g 6,000,000 6,000 0 6,000
HE2M 2s2=ZAM X At 60,000 0 60,000
< 30,000 0 30,000
Al 30,000 0 30,000
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Al 30,000 0 30,000
SE 2HGA AF28HAEE B 2EAY 352,000 852,000 500,000
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&2 & 352,000,000 14! 352,000 552,000 A 200,000
— Z2UA=SIe 2= Y 24H ZFEHOH 0 300,000 300,000
HEE3R L 2l XA 10,000 0 10,000
= 10,000 0 10,000
401 AIEHI L 20 10,000 0 10,000
= 10,000 0 10,000
01 A& HI 10,000 0 10,000
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10,000,000 10,000 0 10,000
< 10,000 0 10,000
#Y2HAH (2 0=) 119,604 115,504 4,100
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